BAR-PAR-ER RE—E

03 WHMARE#WMZD

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EH HiiE Eam)  BAGADH) %

Y7 K VadP2Av 15

Z1 th R T 2.4

22 AR T 1.0

d1 R NZEPANP 1.6

d2 R NPEPANP 1.2
j1 = A VERE 7.7 1.80
j2 =mA VERE 7.5 1.50
i3 =mA VERE 7.7 1.40
j4 =R YA/ 75 1.20
5 =R YA/ 75 1.50
i6 =R YA/ 7.8 1.40
7 =R YA/ 75 1.40
mf = M/ 5.2 1.00
m2 =R /% 35 1.20
m3 =R /% 6.7 2.20
A1 = E/% 43 0.50
~2 = A E/% 45 0.60
~3 = A E/% 45 0.50
~4 = A E/% 5.2 0.60
~5 =R E/% 5.3 0.50
ES =2/ N BN 0.7

(X2 R (= 0.7

(%3 R [aA 0.7

(F4 R (= 1.0

(X5 R (= 1.0

(%6 R (= 0.8

(X7 R (= 0.8

(%8 =R E/N 47 0.60
& =R EXSVRAYE 5.0 0.60
&2 =R EXTVRY 5.0 0.60
&3 =R EXSVRAY 5.0 0.60
&4 =R EXSVRE 5.0 0.60
&5 =R EXSVRAYE 5.0 0.60
&6 =R EXSVRAYE 45 0.60
&7 =R EXTVRAYE 40 0.60
&8 =R EXSVRAYE 40 0.70
&9 =R EXTVRAYE 46 0.60
&10 =R EXTVRAYE 47 0.60




HiE-T% FAE—EXR
03 MHAREHZE
e A=H7600m L E3mAK i {EA=HE60omKiH Z=Z %
No TR BiE =1 =(m) EAE(n) fr K 5 E () &=

1 R AL AP 0.8 15 55
2 hR wAVE VA 0.7 2.2 7.2
3 R YYD 0.6 1.5 5.0
4 FAR AL AP 0.8 1.2 4.7
5 R WAVE VAP 0.6 8.3 15.3
6 EX HUXxIYD 05 22.4

97 R AL A% 0.6 1.0 5.2
48 R VAL AP 0.7 10.4 23.4
9 R wAVE VAP 0.7 44 13.2
410 R AL A% 0.6 12.6 12.6
11 R AL AP 0.8 12.2 27.2
12 R wAVE VAP 0.7 111 23.0
13 R LA 0.8 14.3 31.9
14 R AL AP 0.6 6.6 15.1
15 =P/ N WAVE VAP 0.6 4.1 11.9
16 R HUxUUD 0.8 10.2 27.8
H17 R LA 0.9 43 9.1
18 K I IID 0.6 8.0 13.4
19 R HUXxIYD 0.7 9.0 16.6
420 R AL AP 0.7 7.8 18.7
21 EXR VAL AP 0.5 4.2

22 EX wAVE VAP 0.5 40

423 R AL A% 0.6 55 12.7
24 R AL AP 0.7 6.0 10.9
425 =/ N WAVE AP 0.6 6.4 13.4
26 R YYD 0.7 7.0 15.1
27 R AL AP 0.7 6.8 17.7
428 =P/ N WAVE VAP 0.7 4.0 10.3
429 EX HUxUUD 0.5 6.7

430 EXR LA 05 7.2

31 EXR I IIT 0.5 3.8

32 ER YYD 05 2.9

433 R AL A% 0.6 2.3 5.8
34 EXR AL AP 05 1.0

435 EXR wAVE VAP 0.5 10

136 EX YUY 05 1.1

37 EXR AL AP 05 1.1

438 EXR wAYE VA 0.5 1.1

439 EX YYD 0.3 1.0

440 EXR AL AP 05 3.0

41 EXR AL AP 0.5 3.0

42 R YYD 0.6 0.9 4.1
43 EX LA 0.5 2.0

44 EXR AL AP 0.5 5.0

445 EX wAVE VAP 0.5 43

1 == N )N 1.1 8.5 28.3
22 hAR Iy ) oA 15 6.6 6.6
3 R ) NA 15 5.7 13.7
T4 ==/ N Vad7Av 15 5.7 16.6
5 == N ) 1.5 5.7 16.6
6 R ) NA 15 5.7 16.6
7 ==/ N Ve 7Av 1.4 6.8 18.4
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X AR=1 5 60cm LA _E3mR il {EAR=#E60cmRKii &= F

No TR BE =1 =(m) EE(n) fh K 5 E () &=
8 PR )N 1.4 6.1 20.9
9 R )N 1.3 13.8 35.4
210 R ) NA 1.3 12.8 388
Y1 FAR ESRYYY 1.9 2.4 15.3
V2 R ESRYYY 0.8 14 40
V3 R ESRYYY 0.9 3.2 10.8
V4 R ESRYYY 0.8 1.0 4.2
5 hAR ESREYYD 0.6 3.0 7.2
6 R (e AV B 1.1 5.6 16.8
V7 R ESRYYY 0.8 0.7 3.7
V8 PR ESRYYY 0.8 3.1 9.0
9 R ESFYYY 0.8 4.1 9.5
10 R (i AT B 1.0 3.9 9.9
AR h AR ESRYYY 1.0 4.2 11.6
V12 AR ESRYYY 1.0 43 9.7
V13 R ESRYYY 1.0 36 11.2
Y14 R ESRYYY 0.7 38 8.4
Y15 hAR [ VAP 0.8 438 6.6
16 R ESRYYY 0.7 2.6 4.1
Y17 R ESRYYY 0.7 2.6 4.1
V18 hAR [ VAP 0.7 2.6 4.1
19 R (e AV B 0.7 2.6 4.1
20 R ESRYYY 0.8 5.3 12.1
V21 EXR ESRYYY 05 1.8
V22 AR ESRYYY 0.6 1.0 34
~1 R (NP 1.0 5.6 15.5
k2 R NPE AN 1.0 0.4 3.0
K3 AR (N2 BAVAIS 1.1 75 20.3
~4 R (NI 0.9 5.2 15.6
K5 R NPE AN 0.9 46 10.9
NG R NPE PN 1.0 9.0 20.0
k7 R (N2 AT 1.0 41 21.1
K8 R (NP 1.0 45 10.0
k9 R NPE AN 1.0 48 11.6
K10 PR (N2 SIS 1.0 43 10.2
K11 R NP 0.8 2.0 6.3
K12 R NPE AN 0.9 6.0 12.3
K13 AR (N2 SIS 1.0 7.0 18.6
K14 AR (N PAND 1.1 7.4 25.1
K15 R NP E AN 0.9 3.3 10.1
~1 R RZHTFAEF 1.8 19.4 195.4
~2 R RNZNTFAEF 1.8 38 39.1
1 <& DZA 2245
&2 <& ZA 4538
23 a2 DA 133.2
4 <& DZA 144.0
Z5 a3 ZA 69.7
26 a3 D7A 22.0
=7 % N 9.6
28 a3 A 49
Z9 & N 21.3
210 <& DA 4.2




HiE- 2% HE-ER
03 MHAREHZE
X A= B60om Ll E3mK i {EAR=HE60omKiE F=2%
No TR BE =1 =(m) EE(n) fh K 5 E () &=

Z11 <% N 9.1
212 a3 DA 14
213 <& N 10.3
214 z% N 26.0
Z15 a3 D7A 17.8
216 <& D7A 143
217 A N 20.7
=18 a3 DA 27.0
219 = DA 22.8
220 <& DZA 6.2
21 <% N 37.1
222 a2 DA 35.8
Z23 e DZA 23.6
224 a3 A 318.7
225 a3 D7A 42.4
226 <& D7A 120.0
2217 a3 D7A 48.2
228 a3 DA 228.5
229 <& D7A 37.7
=30 A N 179.0
2 31 a3 A 117.2
232 = DA 18.8
233 = ITA 283.6
234 A A 66.0
=35 a3 DA 46
=36 a3 D7A 69.7
iz 37 A ZA 13.2
238 <& N 47.6
Z39 A ZA 12.5
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04 EF BB ERESZREHHN

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EH HiiE Eam)  BAGADH) %

Al = A Toh 5.8 0.90
A2 = A Toh 5.4 0.41
A3 = A Toh 43 0.30
A4 = A Toh 5.8 0.75
A5 = A Toh 40 0.27
A6 = A Toh 40 0.42
A7 = A Toh 5.0 0.36
A8 = A Toh 35 0.36
A9 =R TohY 45 0.36
A10 =R TohY 5.0 0.42
All =R TohY 55 0.45
A12 =R TohY 5.0 0.33
Al3 =R TohYy 6.5 0.40
Al4 =R TohY 5.0 0.80
Al5 =R TohY 55 0.30
Al6 =R TohY 40 0.60
D7 =P YINF 35 0.45
D2 =P YINF 47 0.60
D3 =P YINF 3.0 0.36
D4 R YINF 2.8

D5 =P N YINE 42 0.40
J7 FAR EF/F 24

J2 =R EF/F 33 0.15
N1 =R IhY 48 0.20
N2 =R IhY 44 0.30
N3 =R IhY 40 0.45
N4 =R IhY 6.5 0.45
N5 =R IhY 6.0 0.40
N6 =R IhY 6.0 0.45
N7 =R IhY 42 0.60
N8 =R IhY 48 0.20
N9 =R ThY 42 0.70
N10 E=% N TohY 5.0 0.45
NI E=% N TohY 38 0.50
St =R FRAIEF 35 0.90
S2 =R FRAIEF 3.0 0.90
S3 =R FRAIEF 40 0.36
S4 =R FRAIEF 3.0 0.42
S5 =R FRAIEF 3.0 0.24
S6 =R FRAIEF 3.0 0.24
S7 =R FRAIEF 35 0.12
S8 =R FRAIEF 5.0 0.45
S9 =R FRAIEF 6.0 0.60
S10 =R FRAIEF 35 0.12
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04 EF BB ERESZREHHN

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
St = A FRAIEF 4.2 0.60
S12 = A FRAIEF 40 0.35
S13 = A FRAIEF 38 0.30
S14 B R FRAIEF 2.6
S15 = A FRAIEF 38 0.80
Ut = A v3d 40 0.40
U2 = A v3d 45 0.50
U3 = A v3d 3.7 0.45
wi AR Evay 2.8
Y1 AR )N 2.0
Y2 AR )N 2.0
Y3 AR )N 2.0
Y4 AR )N 2.0
Y5 AR )N 2.0
Y6 AR )N 2.0
21 R DUFaAVT 1.8
al =R TA NS 6.0 0.45
a2 =R TA NS 6.5 0.45
a3 =R TA NS 6.3 0.45
a4 =R TA NS 6.5 0.54
ab =R TANS 6.8 0.54
cl =K AONEID 55 0.40
c2 =K AONEID 38 0.60
f1 FAR EXAL YT 1.6
f2 =R EXAL YT 40 0.50
f3 =R EXAL YT 35 0.45
h1 =R a7y 40 0.30
k1 =R ‘LY 55 0.45
k2 =R ‘LY 35 0.48
k3 =R ‘LY 5.0 0.60
k4 =R ‘LY 38 0.48
k5 =R ‘LY 5.0 0.60
k6 =N ‘LY 45 0.33
k7 =N ‘LY 5.0 0.30
k8 =N ‘LY 40 0.15
k9 AR ‘LY 2.6
k10 AR ‘LY 2.0
pl =R NFEXF 45 0.39
p2 =R NFEXF 45 0.39
p3 =R NFEXF 45 0.45
p4 =R NFEXF 45 0.39
p5 =R NFEXF 40 0.30
p6 =R NFEXF 40 0.28
p7 = NFEXF 40 0.21
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KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %

p8 =mA NFERF 42 0.24
p9 =mA NFERF 42 0.24
p10 =mA NFIXF 42 0.24
p11 =mA NFIXF 35 0.15
p12 =mA NFIXF 3.9 0.24
p13 =mA NFIXF 40 0.24
p14 =mA NFIXF 36 0.24
p15 =mA NFIXF 38 0.30
p16 = A NFIXF 3.2 0.15
p17 = NFIXF 40 0.30
p18 = A NFIXF 40 0.30
p19 = NFIXF 45 0.30
p20 = A NFIXF 40 0.30
p21 = A NFIXF 36 0.18
p22 = NFIXF 38 0.27
p23 = NFIXF 40 0.30
p24 = A NFIXF 40 0.30
p25 hR NFIXF 2.5

p26 = A NFIXF 46 0.30
p27 =R NFIXF 3.2 0.27
p28 =R NFERF 3.2 0.27
p29 =R NFERF 40 0.27
p30 =R NFERF 35 0.27
p31 =R NFEXF 40 0.27
p32 =R NFERF 38 0.30
p33 =R NFERF 40 0.30
p34 =R NFERF 40 0.30
p35 =R NFERF 35 0.20
p36 =R NFEXF 35 0.20
p37 =R NFERF 38 0.30
p38 =R NFERF 38 0.30
r1 =R LSYFxT 3.0 0.45
r2 =R LoYFxT 3.0 0.12
r3 R LoYFxT 1.4

s =N % 3.0 0.90
s2 =N % 3.0 0.70
t1 =R YIHI5 40 0.30
t2 =R YIHI5 5.2 0.60
t3 =R YIHI5 5.6 0.60
t4 =R YIHI5 5.0 0.60
t5 =R YIHI5 6.0 0.60
t6 =R YIHI5 55 0.60
t7 =R YIHI5 48 0.60
t8 = NIYH5 48 0.60
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04 EF BB ERESZREHHN

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %

t9 =mA YIHI5 6.0 0.60
t10 =mA YIHI5 6.0 0.60
t11 =mA YIHI5 55 0.45
t12 =mA YIHo5 48 0.50
t13 =mA YIHI5 48 0.50
ul R UEIPPA 2.6

u2 R UEIPPA 2.8

u3 =mA UEIPPA 3.0 0.15
u4 =R UElrP 38 0.30
ub =R UElrP 6.0 0.60
u6 =R UElrP 43 0.45
vi = - 5.0 0.60
v2 = A aF5 48 0.60
v3 = A = ] 40 0.47
vé = = ] 6.5 0.60
v5 = = ] 55 0.50
v6 = A aF5 6.0 0.60
v7 = A aF5 55 0.80
v8 = A = ] 6.0 0.60
wi =R vt 6.3 0.69
w2 =R vt 6.6 0.60
w3 =R vt 6.0 0.60
w4 =R vt 6.0 0.54
w5 =R vt 6.0 0.60
w6 =R vt 6.0 0.27
w7 =R vt 85 0.45
w8 =R vt 6.0 0.30
w9 =R vt 7.0 0.50
w10 =R vt 75 0.60
wit =R vt 8.0 0.45
w12 =R vt 6.0 0.30
w13 =R vt 85 0.45
wi4 =R IX¥F 55 0.50
w15 =R IX¥E 5.0 0.40
w16 =R IX¥F 7.0 0.45
x1 =X Id/% 45 0.90
x2 =X Id/% 40 0.60
x3 =X Id/% 5.0 0.45
x4 = AR Io/% 48 0.40
x5 =K IS3/% 5.0 0.30
x6 =K IS3/% 48 0.45
x7 =K IS3/% 45 0.60
x8 =K IS3/% 3.2 0.45
x9 =2 N I3/% 2.4




aR-hKR-EKXK FHE—FE
04 kBB EEBE S HREFA
XKEA=HEZImLlE HAR=HE60cmLl L3mEKiHE EAR=1=60cm=k i
No TR EifE Ba(m)  BRAGEAROH) w5

x10 =P N I5/% 3.7 0.30
ES = A e/ 4.0 0.28
(%2 = A e/ 4.0 0.28
(%3 = A e/ 4.0 0.28
(X4 = A e/ 4.7 0.36
(X5 = A e/ 4.7 0.36
(%6 = A e/ 4.2 0.27
(X7 = A e/ 45 0.30
(%8 =R [ 4.2 0.30
(%9 =R [ 4.2 0.30
(%10 =R [ 38 0.21
(X11 =R [ 3.6 0.21
(%12 =R [ 4.2 0.30
(%13 =R [ 3.7 0.30
(%14 =R [ 4.4 0.24
(%15 =R [ 45 0.30
(%16 =R [ 43 0.30
(%17 =R [ 45 0.30
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X AR=1=60cm AL 3mR il {EAR=#E60cmRKim Z=EF

1 =2 N NI 2.9 137.2 874.3 |4 =250cm| 23R BT E
72 R INAHY 2.5 17.2 70.2
73 thR INAHY 2.0 29.0 263.0
1 KRR TIXIYD 05 84.0

2 EAR W AVESWAIL 05 0.8

Y1 R A LZYFIID 1.0 210.0 286.0
2 R AFALZHYFYID 0.8 315.0 4038
V3 R AH LSHYFYID 0.8 69.0 120.7
Wz R ALY FIID 05 14.4

5 KR A LZYFIID 0.3 5.0

6 KR AFLZHYFUID 0.3 9.1

V7 R ALY FIID 0.3 1.9

8 thR AT LZYFUID 0.8 23.4 456
9 ER ALY FIID 0.4 18.4

Y10 AR ALY TIID 0.4 31.2

11 KR XA LZHYFUID 0.4 12.2

12 KR ALY FIID 05 11.9

Y13 R ALY FIID 0.6 16.0 28.0
14 KR A LZYFIID 05 36

15 EXR ALY FIID 0.4 48

16 ER AFA LSHYFUID 05 20.3

Y17 R ALY FIID 0.5 25.2

18 EXR XA LZHYFUID 05 8.1

19 ER AFLSHYFYID 05 8.1

20 EAR ALY FIID 0.5 9.0

21 thR ALY FIID 0.6 19.5 36.9
22 th R AFALZHYFYID 0.7 69.1 93.3
23 hR ALY TIID 1.2 120 24.0
~1 R NP 0.8 0.5 3.1
k2 R NP 0.8 15 5.5
~3 R LA 0.8 1.5 5.5
~4 R N PR 1.0 1.0 5.0
K5 R NP 0.8 1.0 4.2
N3 R NE AN 0.8 1.0 4.2
K7 h R (N2 SIS 0.8 1.0 4.2
~8 R PPN 0.9 1.0 4.6
~9 R R NFEPANP 0.8 1.7 6.0
K10 R K N2 BV 0.8 1.7 6.0
K11 th R NP PR 0.8 1.0 4.2
k12 R N DA 0.8 1.0 4.2
K13 R NFEPANP 0.8 1.0 4.2
K14 h R NP 0.8 1.0 4.2
K15 R NP 0.8 1.0 4.2
K16 R LA 0.8 2.0 6.8
K17 h R (N2 SIS 0.6 1.0 34
K18 R (N2 BRI 0.6 1.0 3.4
K19 R LA 0.8 1.0 4.2
K20 h R (N2 SIS 0.8 1.0 4.2
K21 th K NP 0.8 1.0 4.2
K22 oK NP 1.0 1.0 5.0
K23 R N2 SRS 0.6 15 45
K24 th K NP 0.8 1.0 4.2
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X AR=1=60cm AL 3mR il {EAR=#E60cmRKim Z=EF

K25 thR NFEPANP 0.8 1.0 4.2
K26 h R (N2 SIS 0.8 1.0 4.2
K27 th K NP 0.8 1.0 4.2
28 R N DA 0.8 1.0 4.2
K29 R N2 BRI 0.8 1.0 4.2
K30 th K NP 0.8 1.0 4.2
K31 R NP 0.8 1.0 4.2
~32 Bh R NPV 1.0 4.0 12.0
K33 h R (N2 BRI 0.6 1.0 4.0
K34 R NP 0.8 2.0 6.8
K35 thR NFEPANP 0.8 1.0 5.0
K36 h R (N2 SRS 0.8 1.0 5.0
K37 h R NP 1.0 2.0 8.0
38 R LA 1.2 7.8 21.2
K39 h R N2 BRI 0.8 20.5 41.6
K40 h R NP 0.8 23.0 48.6
K41 R NP 0.8 32.6 67.2
K42 R NFEPANP 0.8 37.4 77.4
K43 th K NP 0.8 12.2 26.4
K44 R NP 0.6 34 7.8
45 R NP PN 0.8 18.6 18.6
K46 h R (N2 BRI 0.8 4.4 1.1
K47 R NP 0.7 2.2 6.7
K48 oK LA 0.7 39 134
K49 R K N2 BRI 0.7 0.8 3.1
K50 th R NP PR 0.8 42.4 87.4
K51 h R NFEPANP 0.8 40.0 82.6
K52 R N2 BRI 0.8 32.0 66.6
K53 h R NP 0.8 375 59.9
~1 R RZATAEF 2.5 63.0 591.0
E1 ER E/N 0.4 14.4

= R IYINYYD 2.0 15 115
322 thR IYINYYD 2.0 1.5 115
33 R SYNYYD 2.0 1.0 9.0
24 R SN VANAIDY 2.0 20 14.0
25 thR SYINYYD 25 15 14.0
36 th R SYNYYD 2.0 1.0 9.0
37 hR SN VANAIDY 2.0 1.0 9.0
=8 thR SYINYYD 2.0 20 14.0
39 h R IYINYYD 2.0 1.0 9.0
210 FRoR YINYYD 2.0 2.0 14.0
=11 R S VANAIDY 28 15 15.5
212 thR SYINYYD 1.2 1.0 5.8
313 R SYNYYD 1.0 1.0 5.0
214 R IYINYYD 1.0 2.0 8.0
Ay A ;A 100.0

752 % FIIHE 5.8

73 cE FIJA 35

754 & FIJA 5.8

[0 a3 EXYAL 27.4

U2 a2 EXRYAL 40.0

U3 & EXYAL 9.6
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04 EHFEBERESRSEHA

X AR=1=60cm AL 3mR il {EAR=#E60cmRKim Z=EF

V4 <& EXYADL 0.3
U5 e EXYAL 42.0
U6 & EXYAL 68.0
[ TE EXRYAL 33.8
8 a2 EXRYAL 12.0
09 & EXYAL 121.0
(0310 T E EXYAL 2.6
M1 = EXRYAL 16.9
1 a2 z 210.0
Z2 <% d 15.0
3 <& 4 162.0
4 e Z2 1055.7
Z5 & 2 9248




